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What kind of reaction has occurred in
this picture?

In a chemical equation, the reactants are
on the left side.

True or false?
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Which. it s cortect abodt the
chemicatgactioy shown oelow?

HCI + NaOH === NaCl + H,0

The mass of the reactants equals the mass of
the products.

The mass of the reactants is less than the
mass of the products.

The mass of the products is less than the
mass of the reactants.

Mass has changed into energy.
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A The reaction is going from the right
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/Mhat js the explanation foranjacidand-2
base changing into salt and water?

A A physical =

change has cj 4 NaOH == NaCl+ H,0
taken place.

B A synthesis reaction has taken place.
C A decomposition reaction has

taken place.
D A chemical change has taken place.

non-commercial educational purposes only. Visit us at www.NewPathWorksheets.com


http://www.NewPathWorksheets.com/#login
http://www.NewPathWorksheets.com/membership

Chemical reactions

Class

What has taken place in this picture?

e

A a chemical reaction

B a physical chanae

C arexather T ﬁ-‘\
oA E 124

D

Date

In order for a chemical change to take

place, . -t
|
A products Must turn ‘ ‘LL
0 redctanft L
B sAPUSE TN -[
0 product |
C| heat mugt be given off [\ \&

D heat mustbeadded

What kind of reaction has occurred in
this picture?

In a chemical equation, the reactants are
on the left side.

True or false?

7

PREVIEW

Please Sign In or Sign Up to download
the printable version of this worksheet

-

and notices heat being given off. This is

evidence for a(n) <<( ) @

A endothermic reaction =
B physicarrcaction i{J

c L \ )J

D ) feactif

Which. it s cortect abodt the
chemicatgactioy shown oelow?

HCI + NaOH === NaCl + H,0

The mass of the reactants equals the mass of
the products. @
The mass of the reactants is less than the

mass of the products.

The mass of the products is less than the

mass of the reactants.

Mass has changed into energy.

o 0 w »

HCI + NaOH == NaCl+ H,0

A The reaction is going from the right

B & reartants @ optherightside

C | Theprodusts age different than
yreactanf

D| The produtis.aiepon'the et side

/Mhat js the explanation foranjacidand-2
base changing into salt and water?

A A physical |

change has cj 4 NaOH == NaCl+ H,0
taken place.

B A synthesis reaction has taken place.
C A decomposition reaction has

taken place.
D A chemical change has taken place.

non-commercial educational purposes only. Visit us at www.NewPathWorksheets.com

D

© Copyright NewPath Learning. All Rights Reserved. Permission is granted for the purchaser to print copies for



http://www.NewPathWorksheets.com/#login
http://www.NewPathWorksheets.com/membership
http://www.tcpdf.org

